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Foryour birthday, you want to take  group o friends to an indoor trampoline center. There are two
trampoline paks avaiable on your date
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1. Which ampolne center would youchose o th folwing e of inds. Show allworkand
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For your birthday, you want o take group offrends to a indoor trampoline center. There are two
trampoline parks avllable n your dte

pricig informaton:
Sty High: $50forup 10 10 people and $5 per person after that,
Jomp i Up:$70 foraparty st up foe and 52 pr perion.

L. Which trampolinecanter would you choose for th following numberof rends. Show 3l work and
e ustificaion for your scutions, inclucing any representations you used.
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2. Whatlsthe minimum number of fiendsfor which Jum it Up 1 the ess expensiv choice. Show all
workand gheusicsion o your i, kg Fepresetatons 0 .

3. Based on your answer n part 2, use the pricng nformtion gvento mode! algebricllythe sitution
where Jump t Up s lss expensive than Scy High.
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For your birthday, you want to take a group of friends to an indoor trampoline center. There are two
trampolineparks avalable o your dte
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For your birthday, you wan to take a group of friends to an indoor trampoline center. There are two.
trampoline paks avalab on yourdate.

Pricng nformation:
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J4mp I Up: $70for a party set up fee and 32 per prson.
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For your birthday, you want to take 3 group of friends to an indoor trampoline center. There are two
trampolie paks avllable n your dte
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1. Which trampoline canter would you choose for the fallowing numberoffrends. Show sl work and
i justifcation or your slutons, ncuding any representations yu sed.
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